
Арифметические операции в 
позиционных системах 

счисления



ОШИ с ПЛП им. М.М. Расковой

Арифметические операции над 
двоичными числами

 
Сложение Вычитание Умножение

0+0=0 0-0=0 0*0=0

 1+0=1 1-0=1 1*0=0

0+1=1 1-1=0 0*1=0
1+1=10

1+1+1=11
10-1=1 1*1=1



ОШИ с ПЛП им. М.М. Расковой

Примеры:

10110011 10110101 1101011

+    101101 -     100110 *         101
11100000 10001111 1101011

110101100
1000010111



ОШИ с ПЛП им. М.М. Расковой

Деление
1

-
0 0 0 1 1 1 0 1

1 0 1 1 1 1

1 1 1

- 1 0 1

1 0 1

- 1 0 1

0



5

Арифметические операции

сложение

1 5 68 
+   6 6 28 

1

1

6 + 2 = 8 = 8 + 0
5 + 6 + 1 = 12 = 8 + 4
1 + 6 + 1 = 8 = 8 + 0

1
1 в перенос

1 в перенос1

080 4
1 в перенос
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Пример

3 5 38 
+   7 3 68 

1 3 5 38 
+   7 7 78 

1 3 1 18 2 3 5 28
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Арифметические операции

вычитание

4 5 68 
–   2 7 78 

∙
(6 + 8) – 7 = 7 

(5 – 1 + 8) – 7 = 5

(4 – 1) – 2 = 1

∙ заем

781 5

заем
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Примеры

1 1 5 68 
–    6 6 28 

7 5 38 
–    3 7 58 

2 7 48  3 5 68



Вспомогательная таблица
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+ 0 1 2 3 4 5 6 7

0 0 1 2 3 4 5 6 7

1 1 2 3 4 5 6 7 10

2 2 3 4 5 6 7 10 11

3 3 4 5 6 7 10 11 12

4 4 5 6 7 10 11 12 13

5 5 6 7 10 11 12 13 14

6 6 7 10 11 12 13 14 15

7 7 10 11 12 13 14 15 16
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Арифметические операции

сложение

A 5 B16
+   C 7 E16

1

1 6 D 916

10  5  11
+  12  7  14

11+14=25=16+9
5+7+1=13=D16
10+12=22=16+6

1

1 в перенос

1 в перенос

13 961
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Пример:

С В А16
+  A 5  916

1 7 1 316

 1 3 8 916
+  В 5 716

1 Е Е 016
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Арифметические операции

вычитание

С 5 B16
–   A 7 E16

заем

∙

1 D D16

12  5  11
–  10  7  14

∙

(11+16)–14=13=D16

(5 – 1)+16 – 7=13=D16
(12 – 1) – 10 = 1

заем

131 13
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Пример:

3 1 В А16
–   A 5 916

2 7 6 116

D В 1 А16
–  3 6 F C16

A 4 1 E16



Вспомогательная таблица
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+ 0 1 2 3 4 5 6 7 8 9 A B C D E F
0 0 1 2 3 4 5 6 7 8 9 A B C D E F

1 1 2 3 4 5 6 7 8 9 A B C D E F 10

2 2 3 4 5 6 7 8 9 A B C D E F 10 11

3 3 4 5 6 7 8 9 A B C D E F 10 11 12

4 4 5 6 7 8 9 A B C D E F 10 11 12 13

5 5 6 7 8 9 A B C D E F 10 11 12 13 14

6 6 7 8 9 A B C D E F 10 11 12 13 14 15

7 7 8 9 A B C D E F 10 11 12 13 14 15 16

8 8 9 A B C D E F 10 11 12 13 14 15 16 17
9 9 A B C D E F 10 11 12 13 14 15 16 17 18
A A B C D E F 10 11 12 13 14 15 16 17 18 19
B B C D E F 10 11 12 13 14 15 16 17 18 19 1A
C C D E F 10 11 12 13 14 15 16 17 18 19 1A 1B
D D E F 10 11 12 13 14 15 16 17 18 19 1A 1B 1C
E E F 10 11 12 13 14 15 16 17 18 19 1A 1B 1C 1D
F F 10 11 12 13 14 15 16 17 18 19 1A 1B 1C 1D 1E



Домашнее задание
1. Вычислить:
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72568+5248

52438+36018

136628+3528

1112416+A15016

F2416+45AD16

A5816+16B716

56418-42638

753218-36548

33348-2268

F3416-AC416

123D16-45B16

3698516-ABC16

5678+F1716

ABC1416+74128

1578+15616

875316+3578

9340F16+128

13548+FD16

101102+111012

101102-11012

111102*1012

101102:10012

110102:1112

11102:1012


